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Yastructions: - (1) Answer to the two sections must be en in s@parate answer books.

(2) Figures to the right indicate full

i Answer The Following Question. 12
(A) Design a rectangular isdicd afing for a colwman ‘of size 300 mm X 800 mm
cartying an axial cha@eterl £2500 kN and reinforced with 10 nos. of 25 mm
diameter bars in M .. The allowable bearing pressute on soil is 220 KN/m®.
The materials for fo 75 concrete and HYSD reinforcement of steel.
. i
OR
1 (A) Designg antiieder bea: M 3 m overhang, The bearn is carrying & load of 14 kN/m 08
including ofits s eight. Use M20 concrete and Fe 415 steel.
What is 4 catileyer Sipija? Give the points o be considered while designing a cantilever 04
chajja.
2 Answer Theligllowing (Juestion. 11
(A) Fillthe awing blanks. 06
O QLR forms the compression flange of T Beam.
a doubly reinforced beam, compression is taken by and
f % : !
¥ The effective width of a flange of T beam depends upon ! and
4. Shearreinforcementis  provided inthe slab.
it L : - '
5. Longcolumn failsby __ "~
6. Distribution steel is provided to protect against and stresses.
(B) Explain in detzil Bond and Curtailment of Bars. 05
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(A) Classify the grade of OPC,
(B) Design a circular columa 5.0 m high and effectively held in position but restrain
rotation at one end only. It is carrying an axial load of 1500 kN. Design the g
diameter is restricted to 550 mum, Use M 25 and Fe 4185,

against
if its

Answer the following Question.
Design a dog legged stair case for an office building in a room
{clear dimensions). Floor to floor height is 3.5 m. The building is
overcrowding. Stairs are supported on brick walls 230 mm thick &
M 20 and Fe 4135 steel. ;

ing %.&n X60m
{ iiding liable to
“landings. Use

Section - 11

(3

Answer the following Question.. .,
{A) Determine the tensile strength of a roof truss diagmAGRO X Q X 6 mm having f, 250 MPa

e

connected to gusset plaie by 4 mm welds o
bottom. The longer edge of 100 nun was con
(B) Whyare ihe connections using HSFG bolts |
purpose of g washer in HSFG bolts ?

ate of 8 mum thickness.

seitical connection? What is a main

(A} Design a simply supported steel beam m span carrying a RC floor capable of providing
lateral resultant to the top gomps i
subjected was 53.6 kN/m Niedg s .
1SMB section. Perform@re chfeafor wall buckling only.

(A} Calculate the com
" one cover plate 3¢ Won each flange and having a length of 5 m. Assume that

and top is pinned. fy = 250 MPa.

OR

MW system for 2 column compound of 2 ISMC 7 0 @ 35.8 kg/m placed
back to back Mmlear spacing of 200 mm. Axial factored load on column is 1500 kN.
Effeative length of column is 5.0 m. ;

Wowing Question. »
B 500 transmit an end reaction of 250 kN to the flange of column ISHB 250 @
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